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QUESTION 1

To enable the LDP-over-RSVP feature, which of the following configurations is NOT required on an Nokia 7750 SR?
A. Enable the Idp-over-rsvp feature on all PEs and ABRs along the LSP tunnel.

B. Configure Link-LDP sessions between each PE-ABR and ABR-ABR pair.

C. Configure RSVP-TE LSPs in each area between each PE-ABR and ABR-ABR pair.

D. Configure T-LDP sessions with the tunneling option.

Correct Answer: B

QUESTION 2

In a Layer 2 encapsulation using T-LDP, what does the second (bottom) label represent?
A. Tunnel Label

B. VC Label

C. Operational Control Word

D. VPI

E. VCI

Correct Answer: B

QUESTION 3

Which of the following about VPN labels is FALSE?

A. They are signaled between PE devices using MP-BGP.

B. They are swapped at each P router as a packet crosses the service provider network.
C. They are also known as the inner label or service label.

D. They indicate to the egress PE the VPRN to which a packet belongs.

Correct Answer: B

QUESTION 4
What is the default Nokia 7750 SR TTL of a BGP advertisement between confederation members?
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Latest 4A0-C04 Dumps | 4A0-C04 PDF Dumps | 4A0-C04 Study Guide 2/3


https://www.leads4pass.com/4a0-c04.html
https://www.leads4pass.com/4a0-c04.html
https://www.leads4pass.com/4a0-c04.html

https://lwww.leads4pass.com/4a0-c04.html

Leads4 Pass 2024 Latest leads4pass 4A0-C04 PDF and VCE dumps Download

B. 32
C.64
D. 255

Correct Answer: A

QUESTION 5

An E-pipe is configured with a service MTU of 5000. What is the minimum MTU value that should be set on an access
port for a dotlq encapsulated SAP on this service?

A. 5000
B. 5004
C. 5008
D. 5014

Correct Answer: B
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